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ENGLISH
Q-1 Find one thing in your house that starts with each letter of the English
alphabet. It can be things, pet names, place, plants or trees, name of family
members. Write those names with correct spellings in the given column.
For example,
A — Almirah, B — Basket, C - Chandigarh, D —Diya till alphabet Z.
Name Place Animal Things
Diya Chandigarh Elephant Almira
Basket
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SOCIAL SCIENCE

Q-1 Follow the directions and colour the map.
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1) Colour the box NORTH of the GREEN.
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4) Colour the box NORTH of the
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PINK.

5)  Colour the box WEST of the % BROWN.
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6) Colour the box SOUTH of the %%%%) RED.
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iMATHs & SCIENCE

Q-1 Solve the addition sums and colour the animals as per the given codes:
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